R A — R A

HYMKH &% A5 2%
EY IR HYMKH %%
H 3 Oct 10, 2022 .

hiAR: 01

HANYU



N

HANYU

HERAS—HERBRR S

HYMKH &% 2%

g5

B BT

WIS A S PCB, T B IR T2
7 BRATE R i 1 3 A P 4

P Ay Py B0 LR

REAIE

B M= ARER,
WA FRE
WE G4 RSt

- SEFEEIR,

- HEHEA

B ARRA (BRI KA

B ERNRE

m RN
P Zh 3 RIAURE IR
- VEBRIE I
-~ E R

- P DR
LIS

W R T R AT T

CAPACITOR

|P#807412 Date:20220915
2uF10% 3000V pk |

| 30ARMS @ 1000Hz |
~ 1000A pk No Internal =
Resistors  NO.001

 Contains 10gat Fluid
NoPCB

FILM PFC PM Oct 10, 2022 .

Please read Cautions and warnings and Page 2 of 12
Important notes at the end of this document.



s

HANYU

HERAS—HERBRR S

HYMKH #5152
BORB AN
FRE
HE LAY Cr R S K
KE —5% ~ +10%
R D (Z=fE)
BiE LR VR A A% R
BUEIE fr 50 and 60 Hz
WA KA
Urr AC 1.5 x Un, during 10 s
UrrDC 2.15x Un, during 10 s
Urc 2U+1000 V during 10s  (Ui=Un/~2)
*tan & (100 Hz) <1.0x 1073
K RVF 1.1Un  30% of the load time
1.15Un  30min
1.2Un 5min
1.3Un 1min
M a5 90°C+5°C, keep 4 hours do not allow leakage
il GERT fEH BRIV E R, )5 S AT Re it
O A BT A B S B . 7R 10 2Bk XS 25 B N 5 IRIXAE T
Z'%lfﬁEEE 1.1UNDC, HAELHAN L +1%
SRS —40/85
T —40°C ~+85°C
T storage —40°C ~+85°C
T Av. rel. < 95%
IRONHFR 4000 m
BT R
JsF (o DxH) PR RS R
12 4 PCB, MfiRIH7E: PR MM
RN E RAEBESALE
FILM PFC PM Oct 10, 2022 .
Please read Cautions and warnings and Page 3 of 12

Important notes at the end of this document.




s

VB RE A 2 —FH B IR R A 28

HYMKH &% 2%

24

WLt 22 4 T o 5 T %
SENifE

IEC61071-2007

FILM PFC PM Oct 10, 2022 .

Please read Cautions and warnings and Page 4 of 12

Important notes at the end of this document.



s

HANYU
MR RSB R R A S
HYMKH #5152
R~ B
W [T AR AR T Ho B 5 AR
Finished product iron cover 6.3x0.8 single soldering lug
a ﬂ Aluminium can
+H
U
a0
T 7
o
U
o
U
+
o
lse!
e - +
o <
B
T
Marking
(L S 1]
pD+1 M8
E
k=
W[ TR AR A 1 X 5| 4 AR
Finished product iron cover
26 6.3x0.8 single soldering lug
TR A h
au
™
— Aluminium can
T —_—
&
-
T
M
jmy
pD£1
puj
A
a
FILM PFC PM Oct 10, 2022 .
Please read Cautions and warnings and Page 5 of 12

Important notes at the end of this document.



s

HANYU

HEIR AR —H R A2
HYMKH %71 B A 2%

W 5 AR R S 1 B 5] 2 A

Screw terminal

E - Q Finished product aluminum cover
Aluminium can
—
+
T .
Marking

Mle

£0+1

40+1

2D*

// 2 I
\ /JJ

—

@)
N\

@DI£1

W[5 T AR R S 5] 2 A

Screw terminal
. 7
ﬂ Finished product aluminum cover
Il
D
c

Aluminium can

36*1

o
T
M

I [ |

Mie| |
?»D*1
|
P
=
FILM PFC PM Oct 10, 2022 .
Please read Cautions and warnings and Page 6 of 12

Important notes at the end of this document.



s

HANYU

HERAS—HERBRR S

HYMKH &% 2%

W R 5 T A AR AT S

Screw terminal

— 919
& % _ Finished product aluminum cover
o s
Marking
Aluminium can
=
T
| +1 B+l
L
W[5 A TR
CN UN RS Rth |max |s Le Rﬂ‘ (mm> Ft:éﬁllihy%’iﬁ
=] R
(uF> (V.DC) (mQ) (KIW) A (KA (nH) oD | ®D1 H
Un 2000V.AC  Ums 1400V Us 5100V
1.0 3400 2.0 5.0 20 0.7 180 65 68 110 M10x12
2.0 3400 2.1 4.5 25 1.6 180 76 79 150 M12x16
10.0 3400 2.1 3.4 40 3.5 170 76 79 175 M12x16
15.0 3400 1.6 2.7 40 3.1 170 96 99 180 M12x16
Un 2100V.AC  Ums 1500V Us 5400V
0.47 3600 12.0 4.6 16 0.8 175 35 38 117 M8x10
13.0 3600 1.3 2.7 80 8 160 96 99 180 M12x16
FILM PFC PM Oct 10, 2022 .

Please read Cautions and warnings and Page 7 of 12
Important notes at the end of this document.



s

HANYU

HERAS—HERBRR S

HYMKH &% 2%

Cn Un Rs R Imex I Le R (mm) —
(WF) | (V.DO) | (m@) | (KW | (A | (KA | kD [T T R
Un 4000V.AC  Ums 2800V Us 7500V
0.2 6800 5.1 57 16 22 150 | 76 | 79 | 105 | M12x16
1.0 6800 3.9 5.0 40 2.4 150 | 76 | 79 | 150 | M12x16
15 6800 3.0 48 40 3.2 150 | 76 | 79 | 150 | M12x16
1.8 6800 27 4.4 40 4.0 150 | 86 | 89 | 120 | M12x16
2.0 6800 25 42 40 43 150 | 86 | 89 | 150 | M12x16
2.2 6800 2.0 3.9 40 5.1 150 | 96 | 99 | 120 | M12x16
2.4 6800 1.8 35 40 55 150 | 96 | 99 | 150 | M12x16
47 6800 1.2 23 40 | 11.1 170 | 96 | 99 | 205 | M12x16
W I AR
Cn Un Rs Ren I ls Le JOF (mm)
(uF) (VDC) | (m | (KW | (A (KA) | (nHD ] 5 .
Un 2000V.AC  Ums 1400V Us 5100V
1.0 3400 2.0 5.0 60 2.4 150 52 32 114
Un 3000V.AC  Ums 2100V Us 7650V
2.0 5200 25 4.2 30 43 150 90 48 131
RS R RS AT AR R
BPER
B ORMYRR B 1 mm SR A URIN, WA A4
B XIEHTIRMER.
FILM PFC PM Oct 10, 2022 .

Please read Cautions and warnings and Page 8 of 12
Important notes at the end of this document.



s

HANYU

HERAS—HERBRR S

HYMKH &% 2%

VORI BT R e B RE, AFEISERYETCrE, RSSO RAUREF R D 12mm (1%
[A] o

B AEAERASBCEZ AT .

B EAEEOLT, AU IS 2 N R Y e R e LR R L.

BN SR, RN R T e B AR T T e, A AR T REA .

B ENRY RS, B AR R .

IERAESERFEIL BRI e SEOS bR RRAICOK .

T FH A i
HLACEBAE A T 08 T A AN 2 PR X Ra@ - F A A o S K8 7 i v e AT R 88 PR L FH T 7
T

W RSN UOR AT RE G R E R . A AR Rl D] F 2 S LB 2R T ek s A AR
FIRE BN S 0 3 B B2k o

o RREESIN R AREE.

w SRR AT R AR A ik

o RN R RN A LR A Bt T U
o EE R TR

AR
ARG, A DI UEAER I TAE SR N 2 5 A I B KR
T
AL FE BB TR e R TR, IS LU F M
1. R T, .
BRI TN FL (R0
IR LA RN B0 12mm) . SR ROAT, DRI
T1E.
7 2 P 8 P T2
2. I LA TR £ UL 810 KRAERRLA S0 ¥ b i Ay 10000 A.
3. LA BRI 1% MU ST £ IEC60831 AL

AR R
] HRC fR[: 228 MCCB AT M BE ARy . NOE B ES R ANERE 88, UMER AALLEE 1.5 580 %

HL 7 A FL

B HRC R ZARERY A& R B ——E NN TR R .

B HRC {REG£LHUEAE N ONHUE A S IR 1.6 2 1.8 %,

m AE HRC fREZZRUIF R A s CA A IUBCR AT XU

(A R K B AR AT R B R

FILM PFC PM Oct 10, 2022 .
Please read Cautions and warnings and Page 9 of 12

Important notes at the end of this document.



s

HANYU

HERAS—HERBRR S

HYMKH &% 2%

S
FEFERTIULT, A AURILE R B RS RIS (3B B AR L (0K 3 RMIS
S GE S S T

Y E
FEHLUR A WS B0 A ZURA DR A2 05 A TIRCHLINT T, DASE S A2 S A 3 S50 TR LU

HL 25 2% PR PESF & IEC 60831 45 2-6 #1177
KA IR 251

)| 6 h*

BT 1 10 ... 55 Hz*

7 R 0.75 mm*
)| 6 h*

SR GE ) T A . BV R T T A SR ED A, DA SR A B A R T
RENN (ORI S, B R TN 7 B R TR AR AN B P R RS B K (L B

FILM PFC PM Oct 10, 2022 .

Please read Cautions and warnings and Page 10 of 12
Important notes at the end of this document.



s

HANYU

HERAS—HERBRR S

HYMKH &% 2%

Hedth
FL A A MR SO B R AT 0 U] Tt . Gn RO 22 A A A ) < B SR HEAT H3th, UV P MV BF TR B T5 8 2 I 2
Bro foRITER 1910 Nm.,

:

5T VRS A S He oty 1 1) B

T X IR, SRR AT BUAE . 3PV B 20 AT OB L TR A3 5 AR T
Un SR L T AE AL, R A A A N R P R A B

Up SRASIN PR e F 8 B S I, U 200 4 SR B 1) ATV T

WIRAFAEVE YL, A R LA R R AR AL (LTS

fr B R LAY Ay, WA e, R A IIRE:

(1) &5 Fa s b R AT He.

W (2WE< 180 )5, T Z AU BRI 75 V.

m RIEIEAT)E, EEAERESIERE, EfREFERCEKH. WRADRERKER S, &
BOBHOX RS, RUONIX %A SRR BN 67, RRIE By 28 s ibe s
fifi A AN ERAE 26 A

TR IR B P VEIA B P (T il A7 L s, U RAFAE AL AR SR SRS IR Wil EhEF I3 ET.
FEZ RIS, T2 IR AN, IO T, DA G A 2 TR B 5 2 TR] ) 5 L T B

FILM PFC PM Oct 10, 2022 .

Please read Cautions and warnings and Page 11 of 12
Important notes at the end of this document.






	预期使用寿命
	安全
	抗振性
	这些数字仅适用于电容器。因为固定和端子可能会影响振动特性，所以有必要检查内置电容器并暴露于振动时的稳
	维护 

